Projector Mount Installation Instructions

H}m}mﬂm Om
(A) Drywall Screw x4 (E) M4 x 16 Screw x4 L
:?ﬁ'%w? (T
(B) Concrete Anchor x4 (F) M4 x 40 Screw x4
(C) Arm Screw x4 (G) M6 x 16 Screw x4 g
@ [lmmmm (K) Mount Base x1
(D) Washer x4 (H) M6 x 40 Screw x4 @ [ .-
: (J) Mount Body x1 (L) Mount Arm x4 (M) Base Nut x1
() Lever x1 ‘
! : (N) Washer x4

reflecta

/\ WARNING )

This mount must be attached to

a ceiling joist in order to support
the weight of the projector.
Failure to do this may result in

damage or injury.

reflecta gmbh |

| Merkurstrasse 8
{ I M .
C ) < oM 72184 Eutingen

R . Germany

| www.reflecta.de




